Vigenere Tableau (Tabula Recta)

NIN<m|OQ|W|L |O|T|=m X |d=Z|0|a || |D|> =X ]|>
>>IN|[<|mOQ|W|L |[O|T (=X d=Z0o| |0 |ni- D> =X
X|X>IN|[<mOQW|L|O T (=" X d=Z0o|n|0oxx|n|-D|>|=
= =|X>INMOAQ|WI|LL O |= ") X Jd=|Z2Z|0|0 (O [D|>
>>|E(X>INKQOAQ|W(L |O|T (= m ¢ d=Zz|0oa o |n|-|D
DD>IE|X>>IN<OOQW|L|O|T (=" X d|=|Z0|a o |n |-
D> =EX>IN<nOAQ|W|L|O|T|=MmX|d=Z|0|a |0 |un
NN D> X>IN|[<|DOQ|WI|L [O|T |=P|X|d=|Z|0|a|0o|x
X xnkF>D>=E|X>IN|<nOO|WL |O|T (=" X[ d=|Zz0o|n |0
oo n|FDI>EX>IN<KDoOAQW|L|O|T|=mnX|d=Z|0o|a
O ok D>=XI>IN<IDOAQ|WI|WL |[O|T |=n|x|d=|Z|0
ool DI>E|IX>INI<DOQ|W|L O |Z|= M X Jd=|Z
ZIZon|ICI|N|FID|IZIZ|IXI>INI<I0|OQ|W|L|O|T|= P (X | Jd|=
S =Z0QCxnFDI>EXI>INKXONOAQ|W|WL (O |=m|x|d
Jdd=|Zl0o|n QN |IDI>ZEX>INXOOAQ|W|L O = m|x
Y X|dES|Z0oQ|Oxx||FD|>=E(X>IN<O[O|Q|WL|O|T =™
NMIXJd=EZ0OQ OO iFD|I>=(X>INCO|O QWL (O|I |-
--—) =S Z00 0 n-D>=|X>IN<no|a|WwW|v|x
T T=mX d=ZO0oa|Cxxn|-D>=Z|X>IN|<O|jOo|AWw|L|v
OO|T|=MX d=Z0o| O D>=|X>IN<O|O|O|w|Ww
LI OIT|= P d=Zl00Q|Cxn(—|D>=|X|>N|[<oo|a|w
WW[L (O |j=m | d=|Z0oa|oxn|-D>|=|X>|IN|<m|jo|a
QOAQ|WL|O|T (=X d=Zl0|Cx|n|-|D>|=X>|IN<m|o
OOAWU|L|O|IT|=MNX|d=Z|I0|Q (00|12 |> =X |>N|<|m
NOOA|W|L[O|T|= P |d=Z0|a|Cox|n|-|D|> =X |>|N|<
<< [OAQ|WL|O|T (=P |x|d=(Z|0|a|Cx|n|-|D > =X [>|N

< MOAQUWUIL (O |T|=" X d=S|Z0or|Cxxwn|-D>|=X[>|N




